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é - Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuacio:
5,14 % 10 = 9,292 x 10 =
8, 138 x 100 = 5,356 x 1000 =
7,702 x 1000 = 3,474 x 100 =
6,334 x 10 = 3,227 x 1000 =
10, 531 x 100 = 5,498 x 1000 =
1,144 x 10 = 1,336 x 10 =
2,316 x 100 = 1,878 x 100 =
10,724 x 100 = 7,81 x 1000 =
10,949 x 100 = 1,621 x 100 =
7,097 x 10 = 10, 694 x 100 =
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é -. o Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuacao:
5,14x10=51.4 9,292 x 10 = 92.92
8,138 x 100 = 813.8 5,356 x 1000 = 5356
7,702 x 1000 = 7702 3,474 x 100 = 347.4
6,334 x 10 = 63.34 3,227 x 1000 = 3227
10, 531 x 100 = 1053.1 5,498 x 1000 = 5498
1,144 x 10 = 11.44 1,336 x 10 = 13.36
2,316 x 100 = 231.6 1,878 x 100 = 187.8
10,724 x 100 = 1072.4 7,81 x 1000 = 7810
10, 949 x 100 = 1094.9 1,621 x 100 = 162.1
7,097 x 10 = 70.97 10, 694 x 100 = 1069.4
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